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1) Under the guidance of which archaeologist excavation work was undertaken at Rang mahal1952 AD. ?

2) RC\garwal

3) Hannarid 4) VN. Mishra
1) ~ (1952~) if fctB g{'f1~Rt~ ~ ~~R if ~ cm4 fctm 'Fn"?

i) ~.~.~ 2) 01l1.m.~

3) ~'""iIRg 4) cIT.~.fll.!31

2) From which archaeological site inRajasthan has the coin of 'Apollo Dotus' found?

1) Sunari 2) Raidh

I

I

3) Rangmahal 4) Baror
2) ~ ~ fctB 9:{ldIRciCfj ~ -?r i3"1q((i1lg(~B Cf)f ~ ~ &i3lT?

1) wrrn 2) ~

3) (lP""IlWt 4) crm
3) 'Whichkingdom was famous with the title of Bara-Kotadi ?

1) Aamer

3) Sirohi

3) "QHlqi)d)" ~ ~ -?r ~ ~ ~ m?
1) ;miR
3) fui'rtT-

2) Bhinmal

4) Kotah

2)~

4) citcr
4) The Bikaner rular karan singhwas the contemporary of which mughal rular ?

1) Jahangir,Shahjahan 2) Shahjahan,Aurangzeb

3) Akbar, Jahangir 4) Aurangzeb, ShahAlam

4) ~ ~lTW-I? GfjOrif1t? ~~ T"ffi -mITE &l Bl""ICfjt~"I"I~"?
1) ~, ~~ 2) ~~, ~(llzittSl

3) ~, ~ 4) ;jfHlIzittSl, ~m-~
5) The span of the reign ofMaharana Rajsingh was :-

i
I

2) 1632 -1650 AD

4) 1712 -1740AD

1) 1652 - 1680 AD

3) 1682 - 1698 AD

5) G~I(IOII {I\ilro~ Cf)f ~ml"I" 'Cfiffi m%?
1) 1652-1680 ~

3) 1682-1698 ~

2) 1632-1650 ~

4) 1712-1740 ~
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6) "This is that fort the gate's of which no invador could break open" This quotation of Hasan Nizarni refers to

which fort in Rajasthan?

1) laisalmer Fort 2) Jolor Fort

3) Chittor Fort 4) Taragarh (Bundi) Fort

6) "~D:m fcm;n % I ~ ~ ~ ,J\I>tJYUICbI{l~ ~ VcbT", ~ ~ CfiT ~ Cf?~ ~ ~
fcfJn fcI?#r ~ em- if %?

2) ~ CfiT fctffi

4) ~ (~)~

7) The 'Mantra-Rajprakash' is the collection of the spiritual ideas of which sant?

1) Sant Laldas 2) Sant Sundardas

3) Sant Charandas 4) Sant Haridas

7) "~ {1\J1~Cf)I~T"W ~ ~ ;m~ fcrqRi CfiT ~ ~?
1) ~ i;i11i;i1C::I'8 2) ~ ~{C::Pd

3) ~ 'CHU1C::W 4) fRr ~
8) The lehariya 'Samundra lehar' is dyed in which place?

1) Jaipur

3) Chittor

8) "~ ~" -;:yp:f CfiT ~ q%f "MT \lffilT %?
r

1) ~

3) fuffi~
9) Who was the author of the famous 'Kayabeli' ?

1) Soordas

3) Dadudayal

9) ti>~m~"Cf)I;qI~Ril" ti~ ctt {'CFfT fcR:R q5t?
1) WGR1

3)~~

2) Jodhpur

4) Kotah

2)~

4) ~

2) Rahim

4) Pratap Singh

2) ~

4)\:1(1lqro~

10) The Festival of Kalayanji in Diggipuriin Malpura tehsil is dedicated to which formofgbd ?

1) God Vishnu 2) GodShiva

3) GodLaxman 4) Godlndra

10) ~ ~ if ~ ~lJllg{l if Cf)~I%rtl CfiT ilw fcnB ~ ~ ~ if lRTZIT ~ ~?
1) 'o/ICfR ~ 2) ~ fuq

4) 'o/ICfR ~
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11) The birth place of 'Rammat' play is in which part of Rajasthan ?

I) Bikaner.Jaisalmer

3) Jaipur, Bharatpur

11) ~~~ ~if ~~q)f~ £31T?

1) ~, Jl(l~ih

3)~,~

2) Nagour, Barmer

4) Alwar, Sikar

2) <WfR, ~

4) ~,OO
12) About which ruler did historian Dr. Gaurishankar Hirachand Ojha say that he got easil y carried away by

hearsay?

1) RaiSingh 2) JaswanthSingh

3) AjitSingh 4) Sajjan Singh

12) ~Rt6RlChI < if. -rftU~mtl <If.l~ ~ ~ fcnB ~ c5T "Cf)R Cf)T CfJUIT" "Cf)"QT?

l)~ 2) ~~

3) Jl\ifrcr fm" 4) ~ 1m
13) Who was the author of the Books 'Tidorav' and' Alekhu- Hitlar' ?

1) Annaram sudama 2) VijaydanDetha

3) Shiv charan bharatiya 4) Chandra prakash deval

13) "dhilwf' "~~"~ rtt"fCRT ~ ctr~?
2) MIJ1IIc:I'i e:m
4) f.l'1\SlChI~T ~

14) Who gave the suggestion that a confederation of Rajput ruler of Rajasthan be formed?

1) Co!. Tod 2) Charles metcalfe

3) Capt. Steewert 4) SirAmold

14) "~€n ~ ~~ Cf)T ~ ~ CAT ~ IJ1T1:!; I" ~ ~ ~ ~?
1) ~cfu
3)~~

15) Who established the Bundi Prajamandal ?

1) JagnnathAdhikari

3) KantiIal

15) ~ >l1J11l"l0s~ rtt ~ ~ c6t?
1) ij{TFif~ ~

3) tt51r.n{i1I~

2) ~ ~cChIlf)

4)W~

2) Harinarayan Sharma

4) Ganga Prasad Shastri

2) 6R'"tWlIOI ~1l1f

4) *n >mTG:~lTCit
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16) When did 'Matysasangh' become a part of Rajasthan ?

1) 14January 1949

3) 25 March, 1948

16) "~®" ~ Chl \% 3trr ~ CRl"?

1) 14 \iAGlfr, 1949

3) 25 lfrCf, 1948

2) 1November, 1956

4) 15May, 1949

2) 1 ~, 1956

4) 15~, 1949

17) In the following which literary work was not written by Pt. Vishweshwar nath Reu ?

1) Coins ofMarwar 2) History of the Rastra Koots

3) ltihas Nimbas 4) VishweshwarSrnriti

17) ~!T~ q. m~~~CR~~ B IDn ~ Wr&rTfm~?
1) ~ i3TfqJ ~ 2) mtr i3TfqJ ~ {1G(~<;{l

3) ~ ~ 4) m~it~CR~

18) When was' Ijlas Khas' set up ?

1) 1877AD

3) 1892AD

18) "~f '{Sffi1" ctr ~ cpq rt?
1) 1877 ~

3) 1892 ~

2) 1875 AD

4) 1862AD

2) 1875~

4) 1862 ~

19) Which code does not match?
State (1857) Ruler (1857)

A) Dholpur ShambhuSingh
B) Karauli Madan Pal
C) Banswara LaxmanSingh
D) Kotah Ram Singh II

1) A) 2) B)

3) C) 4) D)

19) ~ we ~ ..,-tt %?
~ (1857) ~TfBGf) (1857)

A) ~ ~~
B) cpfu;TI l10f qwr
C) iSll"-1Cl131 B&<iUT fW;
D) Wr -wl" fm- ~

1) A) 2) B)

3) C) 4) D)
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20) When did the massacre of Nimuchana of Alwar?

1) 1925 AD

3) 1927AD

20) ~ CflT ~ $1'Ll16hI03 ~ ~i31T?

1) 1925 ~

3) 1927 ~

2) 1935AD

4) 1921AD

2) 1935 ~

4) 1921 ~

21) Districts of Rajasthan whose entire political boundary touch with neighbouring districts -

1) Rajsamand, Dausa 2) Banswara, Tonk

3) Karauli, Bhilwara 4) Ajmer, Jaipur

21) ~ ~ ~ ~ ~ ~ {1\Jj·f,m6h ~ ~ fJwIT c€r ~ fr· WTill ~ -

1) {1\JjBlOi~, cfrm
3) ~, .q)('ijq Ii=?I

~ ''\,"

2) iSllBcHi=?I, CTCfl

4)~,~

22) The fault at which the Aravalli and the Vindhyan ranges meet is called-

1) GreatBoundaryFault 2) Main Boundary Fault

3) Main Central Fault 4) Delhi Fault

22) ~ om fcr.JtZR it f?wr;:r-~ CflT 'lj~TCh5('ijI(1l ~ -

1) ~ ~ 'lj~T 2) ~"ffitIT 'lj~T

3) ~ ~ 'lj~T 4) ~. 'lj!?T

23) Plateau not related with Aravalli mountains is -

2) Bhorat

4) Malwa

1) Lasadia

3) Oriya

23) ~ qcffi -€t ~ ~ .,m ~ -
1) ('ijIB~;q1

3) ~

2)~

4)~

24) Approximately pow much part of the total area of Rajasthan.iscovered byThar desert ?

1) 41 percent 2) 61 percent

3) 63 percent 4) 56 percent

24) ~ ~ ~ ~ CfiTWP1<T ~ 'l1rT m{ ~ it ~. ~ ~?

1) 41~~Rf

·3) 63~!?m

2) 6Hrm!?B

4) 56 >rm!?m
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25) Beneshwar tri-confluence in Rajasthan is located on the meeting point of which of the rivers?

1) Banas, Bf I.clu and Menali 2) Banas, Dai ad Khari

3) Banas, Chambal and Sip 4) Som, Mahi and Jakham

25) ~ iT &UT~"C.R~ ~ ~ '1fc;,<ii ~ 00~ 1f{ W-«f~?
1) GA1B, ~ ~ ~ 2) ~, ~ ~ "&Tfr

3) GA1B, ~ Q,Ct 'fITq 4) m+=r, ~ ~ \JIT@l1

26) Rupangarh, Mendha, Khari and Khandela seasonal streams empty their water in-

1) Phalodi lake 2) Pachpadra lake

3) Sambhar lake 4) Didwana lake

26) (C'\q'1'I~, ~, "&Tfr i3fR ~ ~ ~ fctB ~ iT \311RT ~ ~ ~ -

1) ~ ~ 2) q:qqcW ~

3) ~ ~ 4) ijgClHI ~

27) Which isohyet divides Rajasthan into two district climatic zones?

1) 25 Centimetre 2) 50 Centimetre

3) 60 Centimetre 4) 70 Centimetre

27) ~-m ~-OO ~ c€r ~ ~ ~ 'lWif iT cITcm ~?

1) 25 BCly"tc\
3) 60 ~ay'k<

2) 50 ~€\41c<
4) 70 ~llyrk<

28) Red loam soils occur in which of the following districts of Rajasthan ?

1) Banswara and Dungarpur 2) Sirohi and Dausa

3) UdiapurandKotah 4) AjmerandBhilwara

28) ~ cJ+:rc ~ ~ ~ f.:PTI ifcl?tt if tf fcI?'1NwTf if ~ \JfRIT 'g-?

1) (iji(1(!H~1~ ~ 2) fWm ~ ctrm
3) ~ ~ cBcr 4) ~ ~ '41(11ql~1

29) Which one of the following groups of districts in Rajasthan is intensely infested with gully soil erosion ?

1) Kotah, Bundi, Jhalawar and Tonk

2) Sawai Madhopur, Bharatpur, Dholpur and Alwar

3) Dholpur, Karauli, Sawai Madhopur and Kotah

4) Kotah, Bundi, Baran and Banswara

29) ~ if H9ifCbtt if tf ~ CflT~-m ~ i3lCi'1IWlCbI (gully) ~ ~ tf TfP'.fR ~ B ~ ~?
1) cBcr, ~, $"I1(11ICiI~ Q,Ct ifcn
2) ~r~, ~, ~ Q,Ct i3fWR
3) ~, cofurIT, ~~ Q,Ct c€rcr
4) c€rcr, ~, cmi ~ qi(1c\I~1
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30) Highest forest area in Rajasthan as on 31 March, 2011 is found in-

I) UdaipurandB ran Districts 2) Karauli and Chit »garh Districts f.

3) Alwar and Pratapgarh Districts 4) Sirohi and Bundi Districts

30) 31 ~, 2011 ctt ftqfu ~ ~ mwz.t if ~ CR ~ lWlT \JfRfT %-
1) ~ ~ crm ~ if 2) cntr#.t ~ fqd)~ll~ fJwIT if

31) Which one of the following is not an objective of Rajasthan Forestry Development and
Bio-Diversity Project?

1) Conservation ofbio-diversity 2) Afforestation

3) Flood Control 4) Eco-tourism promotion

31) f.'r9m if B- ~-m '~--1FT ~ ~ ~ ~-fct\W-mT qR;q\'il'ii cnr~~(f ~ t?
1) ~-m-mT Ww-r 2) -qaniTqur

32) Where is fluoresces-infested 'humpbelt' located in Rajasthan ?

1) Nagaur - Ajrner 2) Banswara - Dungarpur

3) Bharatpur-Alwar 4) Kotan - Baran

32) "{NW-lfl if 'Mi(lmfi m<1 '~~' q%f.Wm %?
1) '1TrfR - ~ 2) qiBClI~1 - ~.•
3) ~ - \31w:R 4) Cf5lcr- crm

33) Desertification is expanding from Rajasthan towards which of the states?

1) Delhi, Haryana, Uttar Pradesh, and Madhya Pradesh

2) Uttat Pradesh, Madhya Pradesh, Gujatat and Maharashtra

3) Delhi, Uttar Pradesh, Uttarakhand and Madhya Pradesh

4) Punjab, Uttar Pradesh, Uttarakhand and Madhya Pradesh

33) ~ cnrm:fR ~B- ~.~ ~ ciR it m %?
1) ~, 5R(;JIOII, ~~T q~~T

2) ~~T, lf~~T, ~ q li$HI~

3) ~,~~T, '3fHI@Os q ~~T

4) ~, ~~T, '3'd{I@OS q ~~T

34) Rajasthan has been divided into how many major agro-cIimatic zones by the Indian Council ofAgricultural
Research and the Department of Agriculture and Meteorology?

1) 5

3) 10

2) 7

4) 13

9
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34) ~ ~ i3f])r.m-;:r ~ (fm ~ ~ 4"ffil1 ~ fcrIWT zm ~ Cf5r~ >flI& ~-~ {gog!

it cITcr=n ~ ?

1) 5

3) 10

2) 7

4) 13
35) American cotton (Nanna) is grown in which of the districts of Rajasthan?

1) Kotah, Bundi 2) Jhalawar,Ajmer

3) Rajsamand, Chittorgarh 4) Hanumangarh, Sriganganagar

35) ~ cmm ("RliT) ~ ~ fcFr ~ it ~ \lffill ~ ?

1) Cf5rcT, ~ 2) $ljCi1lql~l, ~

36) Rathi breed of cows is found in which of the geographical regions of Rajasthan ?

1) South - Western Rajasthan

3) Western Rajasthan

2) North - Western Rajasthan

4) South - East Central Rajasthan

36) uir '1Wf chl1Jlif TIJWlR ~ fctB '4llnRil Ch ~ it ~ ~?
1) c:fuur - m-:er4T ~ 2) ~ - m-:er4T ~
3) ~~ 4) ~- ~~~

37) In how much area of Rajasthan has the Indira Gandhi Canal achieved irrigation potential by March 2014 ?

1) 16 lakh hectares 2) 19 lakh hectares

3) 20 lakh hectares 4) 22 lakh hectares

37) ~ rfim ~ l1fif 2014 ocn TIJWlR ~ ~ it ~ ~. ~ qx ¢ ~?
1) 16"ffi"@ ~

3) 20"ffi"@ ~

2) 19~msr~

4) 22"ffi"@ ~

38) Which one of the following is the lone irrigation project of Rajasthan in which provision has been made for
sprinkler irrigation system to conserve water?

1) YamunaWater 2) Siddhmukh Nohar

3) Bhikhabhai - Sagwara 4) Narmada Canal

38) TIJWlR chl % cfi'R-m ~ ~ qR'4\\J\'i1 ~ ~ \JWf m~ %g; ~ ~ ..~ Cl?Tmq~ -nm
T[<:IT ~?
1) ~ \JWf

3) ~ - {Wlql~1

2) ruQ.Gtj}Sl ~

4}m~

10
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1) 57 kilomctres

39) What was the density of roads per 100 square kilornetres in Rajasthan by the end of2013-14?

2) 50 kilometres

f.+. "\ "2) 50 IGfi<'1It1lc{
P1 "\"4) 721"i~llOjlC{

3) 60 kilometres 4) 72 kilornetres

39) crsf 2013- 14 ~ JRf if "®W-.lR if ~ 100 q<f t20M"'itl,n "Q( ~ Cf)f ~ cp::ff ~?

2) Coal

4) Tungsten

2)~

4) ~

2) Rlmroa wmr %
4) ~ t~R crm ~'iCfiI~roi4~ %

fcf? "\ "1) 57~llOjlc(

fcf? "\ "3) 60~Jl-rIC:{

40) Degana is famous for the mining of-

1) Copper

3) Iron-ore

40) %<TRTf;3m ~ ~ ~ ~ t % ~ -

1)illi4T

3) ~-~

41) A real fluid is any fluid which

1) has zero shear stress

2) has viscosity

3) has constant viscosity and density

4) has surface tension and is in compressible

41) ~~, cU{~%~,..
1) ~fr:R@ ~ %
3) Cf)1'i~Z R!«h1fBtl q ~ ~

42) The dimensions of the coefficient of dynamic viscosity ill (M.L.T) notation system are

1) M L TI 2) M-1 L T

3) M L-1 T 4) M Cl TI

42) ~ ~ Slq~~Cfi rcHcblrocl c6t (M, L, T) ~~R if ~~R %
1) M L T 1 2) M-1 L T

3) M C 1 T 4) M C IT-1

43) Newton's law of viscosity is given by the relation

r:: du1) t=uc=>:
dy

3/2 du
3) T=Jl -

dy

du
2) T=Jl-.

dy

2 du
4) T=Jl -

dy

11



43) -.:qp1Cf)f Rl«.hlrutl Rw1, fui'r~R~ %
r.: du1) T:O::'\j/-t:O::-

dy

3/2 du3) T==jl -
dy

JM

du
2) T:O::jl-

dy

2 du
4) T==jl -

dy

44) Inclined single column Manometer is useful for the measurement of pressures

1) Negative 2) Small

3) Medium 4) High

44) ~'"#II~~ ~ qm;rq ij··illi"lc( Cflfl1 if \3ffi1T%, ~ <wR ?t Wfir
1) ~OIl~I1Cfl 2) mer
3) 11&f11 4) i3fur

45) High velocity in a conduct oflarge size is known as

1) Laminar flow

3) Either of above

4 5) ~ ~ ?t ~ if i3Ul TT"ftt cR \!fAT \iffilT %
1)~~

3) \BR if ~ ~

2) Turbulent flow

4) none of the above

2) C(GETl;c~

4) \BRif~~

au + av + aw :0::0
46) The Continuity equation ax ay az

1) Is valid for ideal fluid flow only

2) Is valid for steady flow, whether compressible or incompressible

3) Is not valid for unsteady, incompressible fluids

4) Is valid for incompressible fluids whether flow is steady or unsteady
au av aw

46) Cfl;i),,!{a ~~R ax + ay + a;:O:: 0
1) ~ 011~ru~M ~cmcr it ~$P1IfUld~ %
2) ~ qmq it W"lITUld%, -=en%CfllQ\1IGl«jm 01~ ~4)t5lB"IGl«j

3) ~ it Wfir Sll1lfUld 1tf t ~'"4l0WGl«j ~

4) ~'"4l~BIii4M ~ it Wfir Sll1lfilld %, -=en%qmq ~ m 01~ ~

47) For viscous flow the co-efficient of friction is given by

1) f:o::~ 2) f:o::~
Re Re

3) f :0::]2 4) f :0::64
Re Re

12
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1) I=~ 2) f =~Re ' Re

3) I ='}2 4) I = 64
Re Re

48) The total energy represented by Bernoulli's equation (~+ v
2

2

+ Z) has the unitsw g
1) Nrnls 2) Nrnlm

3) Ns/m 4) Nrnln
p v2

48) 9Pf~, ~~!lRIDU~coR (-+-2 +Z)ctt~%
w g

1) Nrnls 2) Nrnlm

3) Ns/m

49) Minor losses in a pipe flow are those losses

1) Which are insignificantly small

2) Which can be neglected always

3) Caused by frictional resistance .

4) Caused by local disturbance due to pipe fitting

49) ~ %fq m ~ ~ en- ~ ~
I'

1) ~ ~ tr W9 %
2) ~~!llTm~~~%
3) fitq:!lFWf{«1~~ it q)RUT ~ %
4) ~ qJm it q)RUT, ~ f%fbT it IDU

4) Nrnln

50) The discharge coefficient of a standard venturi meter can be expressed in general as Cd=

1) In(Re)

3) In (Re, fJ)

2) /n(fJ)

4) A constant forallRe & fJ
Where Re =Reynold number, f3 =Ratio of throatto inlet diameter

50) $ll""llfUl':bQTi[{1lilc{ it ~ ~ em f1lql'""Qd~1 Wmrr ~ % C
d
=

1) /n(Re) 2) /11(fJ)

3) [n (Re, fJ) 4) .~ Re. q fJ ·itffiit Wn:(CbIT{dZ)

Re = ~~, fJ= We ~ Clffil cnr ~!Iwn

13
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51) A tapered draft tube as compared to a cylindrical draft tube

Ill> 1) Prevents cavitation even under rec ce discharge

2) Prevents hammer blow

3) Responds better to load fluctuations

4) Converts more of kinetic head into pressure head

51) ~ ~ ~ ~ ~ ~ ru;]~nCf)ii1 qrq:G ~.~.~ ~ 1;f{

1) oR ~ ~ (~) 1;f{ ~!(R ~ ~

2) ~~~~
3) ~ CWlcm~!(Rc8 ~ ~ CRill ~

4) ~ CfiI~~R:Cf) ~ c8 ~!?R ~ -q qf{ClRfd ctmff ~

52) Maximum impulse will be developed in hydraulic ram when

1) Ram chamber is large 2) Supply pipe is long

3) Supply pipe is short 4) Waste valve closes suddenly

52) i?1~$)~Cb ~ -q ~ ~ ~Cfirud m.n
1) tl1 ~ GIST ~ 2) ~ l:fW-T wqr ~
3) ~ ~ mer ~ 4) ~ qwq.~ CK m 0Tfill ~

53) In a hydraulic coupling

1) Slip is around 2 tor3 percent at the running speed
•

. 2) Slip is negligible at low speeds

3) Efficiency of transmission is high at low speeds

4) Efficiency is high as compared to mechanical coupling

53) ~1~$)~Cf) ~ -q
1) ~ Tfftf 1R fu;rq 2 <:IT3 >ffif~I\f.~ \3m1 1:ffi1%
2) Cfi11 'lffi 1;f{ fuiq- ~ ~
3) Cfi11 'lffi 1;f{ ~!(R ~~m-m~.~
4) ~ ~~, ~ 4&5HCf)ii1 cocrfWr.·.~·WRr.~ 1;f{

54) A hydraulic intensifier normally consists of

1) a cylinder and a ram

2) a cylinder, a piston, storage tank and control valve

3) two cylinders, two rams and a storage device

4) two co-axial rams and two cylinders

14
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"\~ "\ "';" ~~54) gl~$1 Gf)~;:61("lILf')FH '1 (01141.-''"'1(3: Q1\11 ~

1) ~ roM'G{ cr ~~
2) ~ RlM'G{, ~ ~, ~z-~ ~ cr ~
3) GJRI~"5{, GJ~, ~ ~ ~
4) m- c€r l{fcru<!:l~~~:m m- ~

55) Which of the following devices is used for transmitting increased or decreased torque from one shaft to
another

1) Hydraulic torque converter 2) Hydraulicram

3) Hydraulicintensifier 4) Hydrauliccoupling

55) f.tq ~ if ~ C{)fl1 if BT \Jffift ~
~ Qi3IT cr -mer Qi3IT imn, ~ ~TJCFG# ~ lR ~IO{lfi)c "Cflf.f

1) gl~$1~Gf) ~ Gf)'1Clb

3) gl~$1~Gf) ~Z'1B1Lf')I<!:I{

2) gl~$1~Gf) ~

4) gl~$1~Gf) ~

56) The power which appears in the expression for the specific speed is the

1) Water power

3) Power into the turbine

56) tAroNlGf) TTftl ~ ~~R if ~ CffiTfr tTTCR ~

1) qr;ft - tTTCR

3) c{GlitH ~~ ctr qrqf

57) Specific speed of an palton wheel ranges from

1) 12 to 70

3) 300 to 1000

57) ~ ctRrr ctr ~rofChGf) TTftl "Gf'JT ~ %-

1) 12 # 70

3) 300# 1000

2) Shaft power

4) none of the above

2) ~TJCFG tTTCR

4) ~if~~

2) 80 to 400

4) 1000 to 1200

2) 80# 400

4) 1000 # 1200

58) In a Francis turbine the discharge leaves the runner radially at exit for this turbine

1) The blade tip is radial at the outlet

2) The blade tip is radial at the inlet

3) The guide vane angle is 90°

4) The absolute velocity is radial at outlet

58) ~ C<GlI~'1if ~c5T ~ ~ r§rsw %1 ~ C<GlI~'1~ fmJ;
1) ~ Rq 01113CMC lR ~ %- 2) ~ Rq ~ lR ~ %-

3) ~ ~ ~ 90° ~ 4) l{~·il~c:.wr 01113cMC lR ~ ~

15
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59) Which of the following turbines is most efficient at part load operation?

1) Pre tUfr 2) Paltr wheel

3) Francis 4) Kaplan

59) cnt ffis ~!IR ~ R9 c(iSll~'i it ~ .3W~ ~-riG: %
1) mt.Jw 2) ~ ~

3) ~ 4) ~

60) Specific speed of turbine is expressed as

1) NJP 2) NJP
H H2

3) NJP 4) NJP
H3/4 H5/4

60) c{€4I~'i q5T (ilmNlCfi 1fffi cffi G:!IWrr~ ~

1) NJP 2) NJP
H

H2

3) NJP 4) NJP
--

H3/4 H5/4

61) The unit power P4of a turbine developing a power P under a head H is equal to

1) P / H 3/2 2) P / H 5/2

3) pJii 4) PH 3/2

61) c{€4I$'i q5T ~ 1:fTCRP4, fClCfJmd cn«IT % 1:fTCRP, %5 H~~ %

1) P / H 3/2

3) pJii
2) P / H 5/2

4) PH 3/2

62) The value of speed ratio (K) in case of Francis turbine ranges from

1) 0.2 to 0.3 2) 0.4 to 0.5

3) 0.6 to 0.9 4) noneofabove

62) ~ c{€4I$'i ~ ~,~ ~.~Tt<n (K) q5T ~.·CfiT &•.%-
_ u

1) 0.2 B 0.3

3) 0.6 -B 0.9
2) 0.4 -B 0.5
4) Ij) q ( cmrrr Cfllt -.,m

63) A Paltonturbine is considered suitable for which of the following head

1) 10 to 20 m

3) 35 to 50 rn

2) 20 to 30 m

4) 100 to 250 m
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63) ~ c{CII~'i q?r f.tq ~ if ~ ~ liRf \Jffi1T%

1O-B20~ 21 20-B30~ I;'

3) 35'G50m 4) lOO'B250~

64) Kaplan turbine is

1) A low axial flow turbine

3) An impulse inward flow turbine

64) ~ c<iSll~'i %
1) ~ q)I1 t;cF~Wwr %TCr ~

3) ~ ~ '1fu:rft wq ~

2) A high head mixed flow turbine

4) An outward flow reaction turbine

2) ~ i3"m ~ ~ qmq c<CI1~'i

4) ~ CfI& ~ ftiiq:~RG<CII~'i

65) Which of the following serious problems arise from cavitation?

1) Damage to blade surface 2) Fall in efficiancy

3) Noise and vibration 4) An of above

65) ~fcfbR ~ Cf)R1JT f.:r;:r if -B ~ ~ (Blft~B) ~ ~ m-ffi.%
1) ~ ~ cor ~ 2) ~ ctt fTmqc

3) ~iR~ ~ 4) i3)q'{ ~ ~

66) The blade of power saw is made of

1) High speed steel

3) Stainless·steel

66) ~ \3mT (Saw) ctt ~ GfIT m-ffi %
1) mt WIs ~
3) ~Rtru

2) Baron steel

4) Malleable cast iron

2) ~~

4) ~ctl ~q(lj q)ffi';. ~

67) The most suitable theory of failure for brittle material is

1) Maximum strain energy theory 2) Maximum normal stress theory

3) Maximum shear stress theory 4) Maximum distortion energy theory

67) ~ ~e.R~(lj ~ ffiir wm ~ ~ ~ \3Wf) ~ %
1) ~fcl:BIiIi ~ ~ ezITfr 2) ~FcruliIi ~ ~ &itff
3) ~fcl:Blili ~~. ~ ezITfr 4) ~Fcru44 tmcr:~R~. v:frfr

68) A key connecting a flange coupling to a shaft is likely to fail in

1) Tension

3) Shear

2) Bending

4) Torsion

17
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68) ~ m"WT q5T !?m it ~ Cffiifr 'tliq"l (q5t) t-~~TBCflctT ~

" ~)' )~!?Ff "'1110'1

3) ~ 4) CR~R

69) An open coiled helical spring is subjected to an axial force, the wire of the spring is subjected to

1) Combined shear and bending only

2) Combined shear, bending and twisting

3) Combined shear and twisting only

4) Direct shear only

69) ~ ~ ~ R>M tR C!f4tt'lM CWf ww:rr \lffifT ~, R>M ~ ill{ tR ~

1) ~ ~ q ~ rot 2) ~ fWR, iiWr \3fR ~qRCll

3) ~ ~W, \3fR ~qRCll 4) mm ~ rot
70) The life of a ball bearing is inversely proportional to

1) (Load )1/3 2) (Load)3

3) (Load)3.3 4) (Load)2

70) Gffiil ~ Cf)f ~, ~;qniffi mcIT!?fwr mnr ~

I,
!
I

1) ('lffi)(Load)1I3

3) ('lffi) (Load )3.3

2) ('lffi) (Load /

4) ('lffi) (Load )2
r

71) The most.suitable bearing for carrying very heavy loads with slow speed is

1) Hydrostatic bearing 2) Hydrodynamic bearing

3) Ball bearing 4) Roller bearing

71) GIgd '111ft 'lffi q Gf)l1 Tfffi ~. fW) ~ ~ q)]1f i31R CffiTIT ~

1) ~l~~~R;Cb ~

3) Gffiil ~

2) QI<4iISI~~fBCf) ~

4)~~

72) The bearing characteristic number in a hydrodynamic bearing depends on

1) Length, Width and Load

2) Length, Width and Speed

3) Viscosity, Speed and Load

4) Viscosity, Speedand bearing pressure

72) $1~$)SI'l~~Cfl ~ if ~ ihlcRRf«:Cfl ~, ~ CRill ~

1) ~,~ \3fR 'lffi 2) ~, ~ \3fR Tfffi
3) fCl@m21, Tfffi \3fR 'lffi 4) Rl@mt), Tfffi \3fR ~ ~



73) The power of a governor is equal to

c2
jll --(m +m)h

1+2c

3c2
3) --(m +m)h

1+2c
Where C = Percentage increase in speed

h = Height of governor
M = Mass of each ball
m = Mass of central load

c2
I) --(m +m)h

1+2c
3c2

3) --(m +m)h
1+2c

Where C = >ffil~Rf ~ i 1lfu ii
h=~c5T~
M = ~ ~ (ball) COT lffi:r (mass)
m=~ ~ CfiT +ifu (mass)

JI\1

2('2
-'-(m+m)h

~j 1+ 2c

4c2

4) --(m+m)h
1+2c

2c2
2) --em +m)h

1+2c
4c2

4) --(m +m)h
1+2c

74) In spur gears, the circle on which the involute is generated is called

1) Base circle 2) Pitch circle
•

3) Clearance circle 4) Addendum circle

74) m fTr<:n:ii, ~ ~ tR ~;:ql~c ~ mm ~, €6~{rt1ct1 ~

1) iro ~ 2) fQq~.
3) r.IWH<B ~ 4) ~mfcIwT

75) When the pitching of a ship is upward, the effect of gyroscopic couple acting on it will be

1) To move the ship towards star-board

2) To move the ship towards port side

3) To raise the stem and lower the bow

4) To raise the bow and lower the stern

75)~ ~ NfWl ~ emW1;f) -?rffi ~, ~ ~ ~ cr0r l:fcR C5f.f qnif \111(4~«blrqCh ~q)T ~ ml

1) ~ CfiT ~ qli ctt ~ ~
2) ~cirtTlt~em~~
3) ~ en) \3OA1 (fm en- cir ;f\-ifr Cfi"BT

4) ~ cn1 :JORT (fm ~ cn1 ~ CORT
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76) The partial balancing means

1) Best balancing of engines

2) Balancing partially the reciprocating masses

3) Balancing partially the revolving masses

4) All of the above

76) ~ ~J\t4All C!)T~ %
1) ~q5T~~~
2) ~Bhil2bR:11 11T?ro- q5T~1q) ~

3) RcmTlf2i11 11T?ro- q5Ti3liT11q)~
4) \3)q{ cn#r B'4t

77) The essential condition of placing the two masses, so that the system becomes dynamically equivalent is

1) IJ2 =K~

3) 1\ = KG

2) f\12 = KG

4) 12 = KG

11& 12 = Distance of two masses from the C.G of body
KG =Radius of gyration of the body

1) 1\12 = K~

3) 1\.= KG

1\ & 12 = ~ ~ c.G -?r~ ~ ..~ .?Jt..
KG =~C!)T~~~~R

78) The maximum efficiency for spiral gears is

1) sinCO+qJ)+1
cosCO-qJ) + 1

3) cos(O+~)+1
cos(O-qJ)+1

2) 1112 = KG

4) 12 =Kq

2) cosCO- qJ)+ 1
sin(O+qJ)+1

4) cos(B-¢) +1
cos(e+tp)+1

o = Shoft angle, rp = Friction angle

78r~ fTr:R q5T~~c6)m~'Bl%

1) sinCO+qJ)+1
cos(O - qJ)+ 1

3) cosCO+ tp) + 1
cosCO-tp) + 1

o = ~w:R cffiuT, rp = fttcf~R cffiuT

2) cosCO-tp)+1
sinCO+ tp) + 1

4) cosCO-V?) +1
cosCO+ tp) + 1
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79) In a clock mechanism, the gear train used to connect minute hand to hour hand is

1) Epicyclic gear train

3) Compound gear train

2) Reverted gear train

4) Simple gear train

79) ~ crtr ~ qCbR"~ if, ~ t.=r \JlTfiRe ~ m~ cR cR: ~ m~ it ~ %
1) C{cllft I~f#1Ch f1r:Rt1 2) lTc\ig f1r:Rt1

80) In a hartnell governor, if a spring of greater stiffness is used, then the governor will be

1) More sensitive

3) Isochronous

2) Less sensitive

4) none of above

80) ~ ~ if, ~ ern- ~ 1h1ft em- fui-.T CfiTli it ffi \Jffifr %, dCf ~ ~

1) ~ ~fuRc/ 2) q)l{ BfuRCI
3) 011~'81.iHft

81) The swaying couple is due to the

1) Two cylinders oflocomotive

3) Primary unbalanced force

81) ~ ~ mw %-

1) {tj"'Ic&llil~c!~ ~ ~

3) m~ 01'i~(1«("1s Gf{tj"

2) Partial balancing

4) Secondary unbalanced force

2)~~

4) ~Cb<?gD01"1~(1«("1SGf{tj"

82) The radial distance of a tooth from the pitch circle to the bottom of the tooth, is called

1) Dedendum 2) Addendum

3) Clearance 4) Working depth

82) ~~ ~ ~ ~ it ~~ ~ ~ cfit ~ crtt cR ~ ~
1)~

3) cMl4(<«"1

2) ~

4) Chl4ChID ~

83) The work requirement for a reciprocating compressor is minimum when compression process is

1) Isothermal 2) Isentropic

3) Polytrophic 4) Adiabatic

83)(\~QI2pR~1 ~ CfiT cnr4 n:Cf:l14~i'ic ~ %, \JFf~~"ff fcW.r
1) \1Y~lcll<Ol (~~) 2) wl~lfqCh (01I~~"1~lfqCh)

3) 1furIT~ 4) C{fg41~RCb

11- +:+ 21
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84) Maximum combustion pressure in a gas turbine is as compared to diesel engine

1) Lower 2) Same

3) More 4) None of above

84) ~ ~~R ~~R~ ~ e:{ql~'i q ~ ~ q5TWA1 it %
1) Cf)11

3) ~

2) "WfR

4) Ij')q~ c11 «I I ~ ~

85) When the speed of centrifugal pump is doubled the power required to drive the pump will

1) Increases 8 times 2) Increases 4 times

3) Double 4) Remains the same

85) \ifCf B~~-rl«l ~ q5T r@r ~ c.nffl~, ~ c€r ~ <~) ~ W!ir meR

1) 8:J:IT:qG ~

3) ~

2) 4 TIT GR:i ~

4) W1R#

86) A surge tank is used to

1) Avoid reversal of flow
2) Prevent occurrence of hydraulic Jump

3) Smoothen the flow

4) Relieve the pipe line of excessive pressure transients
r '

86) ~ ten ~ if 0ffil1 %
1) qmq c€r ~ ~ -B ~ c€r
2) $1~$1~Cf) \ifRT c€r ~ eN 011~'"B c€r
3) qmq c€r Bi~ ~ ~ ~
4) ~~roq~ ~1.w~'"CB- ~ ~ c€r. fuflq ~ ~···Writ

87) A double acting reciprocating pump compared to single acting pump will have nearly

1) double weight 2) double head

3) double flow 4) double efficiency

87) ~ ~ ~ ~B"I$iIChre~l,~, fWwr, ~ ~ eel- gmTif, WTWT m.rr
1) ~~ 2) ~~

4)~~
88) A single acting two stage compressor with complete intercoolingdelivers airat 16bar. Assuming an intake

state of 1bar at 15°C, the pressure ratio per stage is

1) 16

3) 4

2) 8

4) 2
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88) ~ furriYf ~ m ?~\.J1 cmrm, ~ \1{Q ~vri?~(rf1Tq~ 16 G!R en: ~ Gf){ffi ~ I ~ ~ 1 ~ 15°C

~W~, ?r~Rm-mr~*r%
1) 16

3) 4

89) Centrifugal pump operating in series will result in

1) Higher discharge

2) 8

4) 2

2) Higher Head

3) Low speed operation 4) Reduced power consumption

89) ~<i1~I«1 q+q \JlT~ it i3fritc ~ ~, ~ WIT

1) ~~ 2) ~~

3) Cfll1 Tfffi ~!?Ff 4) tRY s'* qrcrr ~~Ff

90) Specific speed of a turbo machine

1) Remain unchanged under different conditions of operation

2) Has the dimensions of rotational speed

3) Relates the shape rather than the size of the machine
4) Is the speed of a machine having unit dimensions

90) ~!?1R c6T(i4mN?Ch Tfffi

1) ~!?Ffc6T~~if~~-wn
2) ~ crrffi Tfffi c6T~!?R %

r· ' '

3) !?Tcr~ fuk CRill %, CRWf: ("®:{) 1l~1R cfr ~ ~
4) 11!?1Rc6TTfffi%, ~ ~ ~!?Ff ~

91) In a two stage gas turbine plant, reheating after first stage

1) decreases work ratio

3) Does not effect work ratio

2) Increases'workratio
4) None ofaheabove

91) m *r Tro c{iiH~'i ~, "Sf~~ c6T~ ~ cnc::

1) cnRfm-mr tRill ~ 2) cwf m-r:rr ~ ~
3) cwf~cm\31W~~ 4) ~~~i •.•• ~

92) Mechanical Efficiency of a gas turbine as compared to Internal combustion engine is

1) Lower 2) Same

3) Higher 4) Unpredictable

92) frB cF-lI~'i c6T~ChHCh«1 ~~ c6T,~ ~!?Ff ~ c6T"WAT~ en:

1) Cfll1 2) B11T'i"

3) ~
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93) Computer Graphic terminal use the as display device

1) X-Ray tube 2) Cathode Ray tube

3) Both of them 4) None of these

93) ~ mNsCflCfl cUfHCfl e@ rs~~ q:;r ~
1) ~~ 2) ~~t~
3) ~ em m 4) ~ ~ ~ ~

94) Functions of CAD system are

24

1) Drafting 2) Geometricmodelling

4) EngineeringAnalysis3) Design review and revaluation

94) m 1J; if ~ ~~ ~
1)~
3) f%\J11~1 ftrJ{ ~ ~~R

2) \J11~Rq") liT!5M~I(\J€IIf?ldl(Oj yTSMll)

4) ~;;:AlA(OjRll <131~l{ilWBfi) fer~~
95) Three dimensional representation of an object is termed as

1) EngineeringAnalysis 2) Geometricmodelling
!

3) Automateddrafting 4) None of above

95) ~ ~ CfiT m.,- ~~R(Tf quR, vT ~
1) ~41f.l(OjRll fer~~

r
3) f5I'CtIRittl ~

2) \iiLl1~Jl(Oj liTsMll

4) \£tIT.it.CbTt 'ltf
96) Which offollowing is an output device for CAD ?

1) Pen plotters 2) Hard copy units

3) Computer output tomicrofilmunits

96) RlTf if -H &is c€t ~ \3TI\R gc ~ %
1) q.,~
2)~~~
3)~~W;B~~~
4) \£tIT crWr ~

97) To enlarge or reduce the apparent size of objects, the command used inAuto CAD is

4) All of above

1) SNAP 2) ZOOM

3) UNDO 4) ORTHO
97) fcfffit ~ c€t ~ ~ q¢r (;JT treR, 0lTir~ if CfiTli ~ cmrrr ~ ~

1) ~ Yf D; 1ft (SNAP)
3) ~ ~ m .m(UNDO)

2) ~.m.m ~ (ZOOM)

4) .m i3ffi R l{e.f .m (ORTHO)



98) Steady flow occurs when

..,·1) Conditions do not change with time at any i;,int

2) Conditions are same at adjacent points at any instant

3) Conditions change steadily with time

dv
4) at is constant

98) ~ C@Cf iRrr % ~
1) ~ (~~R) if ~ ~ mm, fcfim '4t ~ (~) 1R WFl ~ m~

3) ~~~%,~~m~

dv ~,,~ ~
4) atl~~~

99) Duringthrottlingprocess r

•
1) Enthalpy does not change

3) Entropy does not change

99) WcfWr fclfu ~ ~
1) ~~-.,m~
3)~~~%

2) Pressure does ribtcharlge

4) Internal energy do6srtbtchange

2) ~ (~~Tt)~ ~%
4) ~~~-.,ft%

100) In an irreversible process these is a

1) Loss of heat

3) Gain of heat

100) ~<RcHro€lftl fclfu if mm %
l)~<hlmR
3) ~ <hl m&r

2) No loss of work

4) No gain of heat

2) cor<f <hlmf.'l ..,m
4) ~ <hl mfu ~

101) The air standard efficiency of otto cycle is given by

1
1) 7]=1+--

(r r+1

1
3) 7]=l-(rr+1

1
2) 7] = 1- (r)'-l

4) n- 2__ 1_
'/ (ry-I
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1
1) 17=1+--

Cry+!

1
3) 17=1- (ry+l

102)For same compression ratio

1) Thermal efficiency of otto cycle is greater than that of diesel cycle

2) Thermal efficiency of otto cycle is less than that of diesel cycle

1
2) 17:::1- (r y-l

1
4) 17:::2- (ry-l

~
i,

3) Thermal efficiency of otto cycle is same as that for diesel cycle
4) Thermal efficiency of otto cycle can not be predicted

102)"flllR ~~R m-rm ~.~
1) I311ir~ ~ ~~, ~ ~ eN SFRT if ~ %
2) 1311ir~~~~, ~~eNWATif~·~
3) '3TIir~~~~, ~~~WlR%
4) 13nir.~~~~q)f~~~~

103) Kelvin - Plank's law deals with

1) Conservation of heat

3) Conservation of heat into work
r

2) Conservation of energy

4) Conservation of mass

103)~~ q)f ~ ~ qmrr %
1) ~ Cf)f W~ (~~R)
3) ~. cn1com if W~

r •
2) I3WIT CflT W~

4) 11fu" (Mass) CflT m~
104) If the temperature of the source is increased, the efficiency of the carnot engine

1) Decreases 2) Increases

3) Does not change 4) Depends on other. factors

104)~ "ffifT CflT ~ ~ ~. %, ~ ~ eN ~liRTI

1) trVft 2) ~

3) ~ ~ m.n 4) ~ @Jii ~ Frl:Rcntm

105)Sub cooling occurs when the vapour

1) Has high latent heat

2) Has low latent heat

3) Removes sensible heat from refrigerant

4) Has high thermal conductivity

11 - .:.
1~.:::~_~. - ~ ...-. -----
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105) ~ ~ \JfGf ~ t \JfGf ~ if
1) \3'ff.f ~ ~ ~ %
2) ~~~mmi
3) ~Sfl<l\J1~ZU ?Hfl~~ ~ ~ \Jffift ~
4) ~ ~ Cf);ScRWCl€l %

106) For free convection, Nusselt number is a function of

1) Prandtl and Grashof number

3) Grashofnumberonly

106)~ ~!lR, ~ ~ 1:15cf!lR%
1) ~ \3fR tr!lTr:n ~
3) rut tr!lTr:n ~

107) The term (NCPLK) is called

1) Froude number

3) Prandtl number

107) C'.ll (NCPLK) c€r ~ ~

1)~~

3)~~

108) The unit of overall heat transfer coefficient is'

1) w/m'k

3) w/m2

108) ~~ I£1SI1T <;1"BlfH ~TiR; c5t ~ %
1) w/m'k

3) w/m2

JM

2) Reynolds and Grashof number

4) Reynolds and prandtl number

2) t.m;s 3lR n!lTr:n ~

4) ~ 0ffi: SH;SC;~ ~

2) Biotnumber

4) Nusseltnumber

2) w/m2k

4) w/rnk

2) w/rrr'k

4) w/rnk

109) According to wein's displacement law, the wave length corresponding to maximum energy varies with
absolute temperature, T as

1) 1'-1 2) yz

3) 'fl 4) T4

109)cW:R m~~'G ~ ~~, ifq~ Cf)~W1P5ll ~ ~~, iffi Cf5«ft% ~~:i)l{ti!{c~, T U
1) 1'-1 2) yz
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110) The so called radiator of an automobile is a heat exchanger of

1) Open type

3) Counter flow type

2) Parallel flow type

4) Cross flow type

1) ~~

3) ~%TCf~

2) '8+lI'iI;;:"n ~ ~

4) ~~CWl

111) Bending moment M and torgue T is applied on a solid circular shaft. If the maximum bending stress equals
to maximum shear stress developed, then M is equal to

1) M+T

j
i

1) 2M1f 2) T/2M

111) ~ ~ M i3fR CRCf)T,~ ~ Cld<'1ICflI{ (circular) ~TTCfCo/WKIT %, ~ ~ ~I~ll@~mm ~ ~ ~ @~~m 0/, ~ M ~ Nrrr

2) -JM2+T21) M+T

112) Ifa circqlar shaft is subjected to a torque T and bending momentM. The ratio of maximum shear stress to
maximum bending stress is

3) 2TIM 4) Ml2T

112) ~ Cld<'1ICflI<(circular) ~TTCfC"Cf(Cf(cf) T q ~ ~ M wrmr \JfRIT'~ I ~ ~ffi @ q GlT~
diiS'l $ cnr WiTtiT ~

1) 2M1f

3) 2TIM

2) T/2M

4) Ml2T

113) The shape of Bending moment diagram for uniform cantilever beam carrying a uniformly distributed load
over its length is .

1) A straight line 2) A hyperbola

3) An ellipse 4) A parabola

113) gHlhl4 enZl<!l"ICI( cfr:l ~~, ~iJTJlhI4<!1J.f%@0:{e!5 ~;sfr ~ ~ ~"Cf( %, ~ ~!5I;q!lIl1
ctt ~Nm<fr

2) ~ $1~q",ql<'1r

4) ~ q(li?~I0I
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114) Which theory of failure will you use for alurniniumcomponents under steady loading

1) Strain Energy theo-y , 2) maximum shear stres theory

3) Principal Stress theory 4) Prinicipal strain theory

114) 0ntr fct-B ~ ~ ~ q5T C})]l1 if ~, \ifC{ i3i~fJ'i..fIM?<1~q)Ri\~;Cfl, ~ ~ in ~ %
1) $1 WJlf &frtT 2) .~ ~w.@ &frtT

115) Two shafts A and B are made of same material The diameter of shaft B is twice that of shaft A. The ratio of
power which can be transmitted by shaft A to that of shaft B

1) 112

3) 118

2) 1/4

4) 1110

115) m ~TJ1RA q B ~ m ih!l{)'!OH1cfit ~ ~ 1 B ~lNC ~ oqm, ~1Jl:RA U§,~'11 %-1!?TfCR: A it ~TfifEB TR
'CIlCl1 ¢Ffl41c cnB ~ m~ WIT

1) 112 2) 1I4

3) 118

116) Which material is used for bearing lining?

1) Bross 2) Bronze

3) Gunmetal 4) White metal

116) ~ ctr ~ in fW?r c5Rm Y~R~(I1Cf)f11 if fW:n \jffi'ff tl

1) ~ • 2) ~
3) <R mg (~) 4) ~ ~

4) 1/10

117) The bolts in a rigid flanged coupling connecting two shafts transmitting power are subjected to

1) Shear force and Bending moment

3) Torsion

2) Axial force
4) Torsion and bending moment

1) ~ltR cwr \3fu ~ ~
3) cmR

118) Starting friction is low in

1) Hydrostatic lubrication

3) Mixed lubrication

118) ~~ &--cf~RCfi1i mm ~
1) &1~ii1lkR:Ch~~R

3) ~~~R

2) lfct~~ CWf

4) cmR~~~

2) Hydrodynamiclubrication

4) Boundary lubrication

2) t\1~i1lkreCh ~~R

4) ~~~R
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119)Monal Metal is an alloy of

1)' olybdanum & nickel

3) Molybdamum & aluminium

119)~mg;,~~~

1) t:il ~"IGI%'ilOl0ffi ~
3) 4lWlGl$'i1Ol 0ffi ~iY'!{qIH(OjlOl

120) In the assembly of pulleys, key and shaft

1) Pulley is made weakest
2) Key is made weakest

3) Key is made strongest
4) All the three are designed for equal strength

120)~, e6t(key) ~ !'(11l:fC e6t ~ t-
1) ~ ~ ~ \IIlffi ~

2) c5r(key) ~ CRT{ \IIlffi t-
3) q5T(key) llW@ ~ \Jffffi t-
4) ~ m'il q)f ~ WlR~ ~ fWr ~;;ffit ~ I

2) N 'kel& copper

4) Molybdanum & zinc

2) ~0ffi~

4) lOl"'I~IGI~'1lOli3fu: ntcn

•
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